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An Efficient Method for Chromosome Doubling of Horsebean

WANG Xiao-wen, SANG Xian-chun™
(Engineering Research Center of South Upland Agriculture, Ministry of Education, College of Agronomy and

Biotechnology . Southwest University,Chongqing 400716, China)

Abstract; To overcome the defects of inefficiency,labor consuming and lower induction rate in tra-
ditional chromosome doubling techniques.the lateral roots of horsebean were treated by 4 concen-
trations of colchicine and the doubling efficiency was tested. The results demonstrated that when
the 0. 5—1. 0 cm lateral roots were used as material and treated for 48 h with 0. 10 mg/g colchi-
cine,the expanded rate of root tips reached to 92. 94%. The cell induction rate of expanded root
was 28.20% in the region from middle to root cap,which was significantly higher than in the re-
gion from middle to elongation zone. The present method displayed a higher doubling efficiency.,
increasing by 8 times compared with the traditional method (treating the taproot) ,and more met-
aphase cells were observed by means of microscope. Therefore, the method not only suits for
teaching in plant chromosome doubling, but also offers a reference for chromosome doubling of
other plants.
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